INSTALLATION INSTRUCTIONS

FUEL RAILS
NISSAN R35 GTR

d I ‘ I | Document: 19-0218

Support: info@radiumauto.com
ENnc T NEERTrcs

CAUTION

Only a qualified technician following applicable safety procedures should perform the installation of this product.
One must have knowledge in repair and modification of fuel systems and general vehicle modifications to install this product.
Gasoline and other fuels are flammable and can be explosive.
Only install in a well-ventilated location to minimize buildup of fuel vapors.
No sparks, open flames, smoking or other ignition sources are to be present. Draining and removal of all fuel from the fuel system is recommended.
20 0556 PK Proper eye and personal protection is required at all times during installation.

Plumbl ng Klt’ N ISsan R35 GT R The fuel system is under pressure! Do not loosen any connections until relieving the fuel system pressure.
F ” S 35 54 Consult a service manual for instructions on relieving fuel pressure safely. This product is designed for off-highway and racing use only.
ollow teps - Fuel system components may not be legal for sale or use on emissions controlled motor vehicles. Consult local, state, and federal laws.

STEP TOOLS NEEDED INSTRUCTIONS



















35

Petroleum Oil

20-0556-PK Fuel Rail Plumbing Kit, Nissan R35 GT-R ONLY

5/16" Allen Wrench

7/8" Wrench

7/16" Wrench

PTFE Paste

3mm Allen Wrench

Lubricate all O-rings prior to assembly. Install as follows:

-8AN ORB plugs in front ports and upper front LH bank.

-8AN ORB to 6AN male adapter fittings into rear ports.

-8AN ORB gauge adapter into the LH upper front port.

-Fuel pressure gauge into gauge adapter using PTFE paste.

-8AN ORB FPD-Rs into the upper rearmost ports.

For intake manifold clearance, FPD-R vacuum nipples should face
outwards. If necessary, remove 5 bolts, cap, rotate, and reassemble.

VIEWED
FROM
FRONT

OF

VEHICLE

36

5/64" Allen Wrench

3/4" Wrench

7/8" Wrench

1/4" Allen Wrench

Petroleum Oil

Remove the five 10-32 countersink bolts. Carefully rotate the top cap as
shown. This will point the vacuum barb in a favorable location.

Lubricate all O-rings prior to assembly. Install as follows:
-6AN ORB plug in the lower front port.

-8AN ORB to 6AN male adapter fitting in the upper front port.
-6AN ORB to 6AN male adapters into the rear ports.

37

10mm Socket Wrench

To remove the fuel line carrier mount from the vehicle, unscrew the two
M6x1.0 hex bolts.

38

Remove the 2 metal sleeves and rubber isolators from the OEM fuel line
carrier.

39

4mm Allen Wrench

Slide the OEM rubber isolators and metal sleeves onto the provided fuel
pressure regulator (FPR) mounting bracket.

Install the two M6x1.0 button Allen head bolts through the FPR and into
the mounting bracket, as shown.

40

11/16" Wrench

Find the 3 out of the 4 PTFE hoses in the kit that are described below.

Tighten the FPR return hose and loosely install the other 2 hoses.

1. Low Pressure FPR Return to OEM Fuel Return Line
Length: 17.5in, Hose End 1: Straight, Hose End 2: Straight

2. High Pressure FPR (RH) Outlet to LH Bank Fuel Rail Rear Inlet
Length: 18.0in, Hose End 1: 45degree, Hose End 2: 45degree

3. High Pressure FPR (LH) Outlet to RH Bank Fuel Rail Rear Inlet
Length: 12.5in. Hose End 1: Straiaht. Hose End 2: 45dearee




41

10mm Socket Wrench

Insert the FPR assembly into the engine bay.

Using the OEM M6x1.0 hex bolts, secure the FPR bracket assembly.

42

5/64" Allen Wrench

Find the provided SAE adapter fittings. The 5/16" version will be used on

the OEM "return" hard line. The 3/8" version will be used on the OEM
"feed" hard line.

As shown, remove the screw and green SAE retaining lock from each SAE

adapter fitting.

43

Petroleum Oil

Lubricate the internal O-rings on each SAE adapter fitting.

Fully insert each fitting onto their respective OEM hard lines. Temporarily,

orient each fitting in the direction shown for best access to fastening the

SAE lock.

44

5/64" Allen Wrench

Lineup each green SAE retaining lock and secure with the small screws.

Spin each of them in the direction shown.

45

11/16" Wrench

Route the 2 PTFE hoses to their respective fuel rail ports and tighten.

46

11/16" Wrench

To tighten the RH side FPR (outer) hose end, the LH side FPR (inner) hose
end will first need to be removed.




47

11/16" Wrench

Tighten the LH side FPR (inner) hose end.

48

11/16" Wrench

16mm Wrench

Swing the FPR return hose over the top of the FPR and route to the 5/16"
SAE quick connect fitting and tighten. NOTE: This hose routing prevents
excessive heat transfer from the turbocharger to the fuel lines.

Find the fourth PTFE hose in the kit.
4. OEM Fuel Feed Line to High Pressure FPR Inlet
Length: 9.0in, Hose End 1: Straight, Hose End 2: 90degree

Secure this hose between the OEM feed line and the FPR inlet.

49

Reinstall all components in reverse order.

Check for fuel pressure gauge and fuel pulse damper clearance. Minor|
modifications may be required.

50

Diagonal Cutters

Attach the 2 short vacuum hoses to the fuel pulse dampers.

Attach the long vacuum hose to the FPR port.

51

Diagonal Cutters

NOTE: The upper intake manifold plenum is not installed in the depiction
for clarity of vacuum hose routing. This step should be performed with the
manifold on to avoid hose pinching.

After assembling the supplied Y-adapters, route the vacuum hoses towards
the barb on the LH side of the intake manifold.

52

Connect the final merged hose to the OEM FPR barb on the intake
manifold (shown).




53

Cycle the ignition switch a few times (without starting engine). This allows
the fuel pump to prime the system. CHECK FOR LEAKS! If no leaks are
found, start the engine.

NOTE: The fuel pressure regulator is NOT preassembled to a specific fuel
pressure (see below).

54

3/8" Wrench

3/32" Allen Wrench

NOTE: OEM Nissan VR38DETT static fuel pressure: 3.8 bar (+/-0.2).

To properly adjust static fuel pressure, following the procedure below:
a. Remove the FPR vacuum hose and temporarily cap it.

b. To increase fuel pressure, tighten the set screw.

c. To reduce fuel pressure, loosen the set screw.

d. Monitor the installed fuel pressure gauge.

e. Once adjusted, lock the set screw in place with the jam nut.

Installation Complete




